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CO-ORDINATE GEOMETRY

Solved Examples

1. Find the distance between the following points :
(i) (3,4) and (5, 2)

(ii) (0, 2) and (4, -1)

(iii) (a, 2a) and (-a, -2a)

(iv) (4,-3) and (- 6, 5)

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_X8mzl3kqvJxh
https://dl.doubtnut.com/l/_0019W3V2uRvI

2. Find the distance between the points (5, 8) and (-3, 2).

o Watch Video Solution

3. Find the distance between the points (2, 6) and (0, 9).

o Watch Video Solution

4. Find the distance between the points (acosf, asinf) from the

origin.

° Watch Video Solution

5. Find the distance of the point (3, 4) from the origin.

o Watch Video Solution



https://dl.doubtnut.com/l/_0019W3V2uRvI
https://dl.doubtnut.com/l/_rTkiHkdogNIV
https://dl.doubtnut.com/l/_zgsbWFPzi1qL
https://dl.doubtnut.com/l/_5LlSQkauEGbO

6. If the distance between the points (x, 2) and (6, 5) is 5 units, find the

valueof 'z .

° Watch Video Solution

7. If the distance between the points (-2, -5) and (-6, y) is 5 units, find

the value of y.

o Watch Video Solution

8.1If the distances of P(z, y) from A(5,1) and B( — 1, 5) are equal,

then prove that 3x=2y.

o Watch Video Solution



https://dl.doubtnut.com/l/_Wyg97NMFZzeR
https://dl.doubtnut.com/l/_7yDK5eqIDUKw
https://dl.doubtnut.com/l/_lB1Fdbgw6ZJG

9. Prove that the points (5, -2), (-4, 3) and (10, 7) are the vertices of an

isosceles right-angled triangle.

° Watch Video Solution

10. Prove that the points (a,a), (—a, —a) and ( — ay/3, ay/3)

are the vertices of an equilateral triangle.

o Watch Video Solution

11. Prove that the points (4, 8), (7, 5) , (1, -1) and (-2, 2) are the vertices

of a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_OwoAiMBHJoal
https://dl.doubtnut.com/l/_96bmSGEKuWe8
https://dl.doubtnut.com/l/_PGm2rhtXNZyF

12. Prove that the points (2, -1), (4, 1), (2, 3) and (0, 1) are the vertices of

a square.

° Watch Video Solution

13. Show that the points A( —3,3), B(7, —2) and C(1,1) are

collinear.

o Watch Video Solution

14. Show that the points (9, -2), (-5, 12) and (-7, 10) lie on that circle

whose centre is the point (1, 4)

o Watch Video Solution



https://dl.doubtnut.com/l/_3Y0apbjIi8vw
https://dl.doubtnut.com/l/_EBPErWzJlJ8C
https://dl.doubtnut.com/l/_tsyxhJLUH0aU

15. In the given figure, AABC is an equilateral triangle of side 3

units. Find the coordinates of the other two vertices.

<- —+ X
X O| A2, 0) B

o Watch Video Solution

16. A cyclic quadrilateral is drawn such that three of its consecutive
vertices are (0, 4), (0, 0) and (2, 0). Find the longest distance between

any two vertices of this quadrilateral.



https://dl.doubtnut.com/l/_YbhfYI8M0tbu
https://dl.doubtnut.com/l/_AKv8vcKE0CEG

| @Y Watch Video Solution

17. If the two vertices of an equilateral triangle be (0, 0), (3, v/3),

find the third vertex.

o Watch Video Solution

18. What point on the X-axis is equidistant from (7, 6) and (-3, 4) ?

o Watch Video Solution

19. Find the equation of the set of all points equidistant form the

point (4, 2) and the X-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_AKv8vcKE0CEG
https://dl.doubtnut.com/l/_2zm4F61OcHoT
https://dl.doubtnut.com/l/_JOfn3UTQYZRA
https://dl.doubtnut.com/l/_6JaStz2OdI73

20. Find the equation of the set of points such that the sum of its

distances from (0, 3) and (0O, -3) is 8.

° Watch Video Solution

21. Find the equation of the set of all points which are twice as far

from (3, 2) as from (1, 1).

o Watch Video Solution

22, If
A(2,2), B(—2, —2),C(—23,2/3) and D( — 4 —2,/3,4+ 2,/3)
are the co-ordinates of 4 points. What can be said about these four

points ?

o Watch Video Solution



https://dl.doubtnut.com/l/_HsZuGFJBOvDs
https://dl.doubtnut.com/l/_iGiZEC2E6wzI
https://dl.doubtnut.com/l/_IfJlCWHldoJJ
https://dl.doubtnut.com/l/_ZUh7TRMJJPhw

23.Find the coordinates of points on the line joining the point that is

twice as far from as from

o Watch Video Solution

24. Show that AABC, where
A(-2,0),B(2,0),C(0,2) and APQR where

P(—4,0),Q(4,0) and R(0,4) are similar triangles.

o Watch Video Solution

25. Find the co-ordinates of a point which divides the line segment

joining the points (5, 1) and (-10, 11) in the ratio 2 : 3 internally.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZUh7TRMJJPhw
https://dl.doubtnut.com/l/_grTcLRyhNbS1
https://dl.doubtnut.com/l/_8IMcpuKtYUHe

26. If a point P lies on the line segment joining points
A(—3,4) and B( — 2, — 6) such that 2AP = 3BP

then, find the co-ordinates of point P.

o Watch Video Solution

27.Find the co-ordinates of a point which divides the line joining the

points A(3,4) and B( — 2, — 1) in the ratio 3 : 2 externally.

o Watch Video Solution

28.Find the co-ordinates of a point which divides the line joining the

points A(5, — 2) and B(4, 6) in the ratio 1: 2 externally.

° Watch Video Solution



https://dl.doubtnut.com/l/_QGonjkUdos9U
https://dl.doubtnut.com/l/_74ikath2KYfL
https://dl.doubtnut.com/l/_HC9kdejOlN64

29.Find the co-ordinates of the mid-point of the line segment joining

the points A(3, — 5) and B(1,1).

o Watch Video Solution

30.The co-ordinates of the end points of a diameter are (-1, 5) and (3,

-1). Find the co-ordinates of the centre and the radius of circle.

o Watch Video Solution

31. The co-ordinates of the mid-point of line joining the points A and
B are (2, -3). If the co-ordinates of point A are (-3, 4), then find the co-

ordinates of point B.

o Watch Video Solution



https://dl.doubtnut.com/l/_TkfVnYUAdMX3
https://dl.doubtnut.com/l/_T0PVtfiAZFB3
https://dl.doubtnut.com/l/_BRKa3AZGCvRz

32.Find the ratio in which X-axis divides the line segment joining the

points (8, 5) and (-3, - 7).

° Watch Video Solution

24
33. In what ratio does the point (ﬁ’ y) divide the line segment

joining the points P(2, — 2) and Q(3, 7)? Also find the value of y.

o Watch Video Solution

34. The co-ordinates of the vertices of AABC are
A(3,2), B(1,4) and C( — 1, 0). Find the length of median drawn

from point A.

o Watch Video Solution



https://dl.doubtnut.com/l/_kZwu6tVhcBmq
https://dl.doubtnut.com/l/_4gIH2ogcpKRO
https://dl.doubtnut.com/l/_fQ9aLqzqNmoH

35. Find the co-ordinates of the points fo trisection of the line joining

the points (3,-2) and (-3, -4).

o Watch Video Solution

36. If two adjacent vertices of a parallelogram are (3, 2) and (-1, 0) and
the diagonals intersect at (2, -5), then find the coordinates of the

other two vertices.

° Watch Video Solution

37. The co-ordinates of three consecutive vertices of a parallelogram
are (-1,0), (3, 1) and (2, 2). Find the co-ordinates of fourth vertex of the

parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_7A6XWrBBixVr
https://dl.doubtnut.com/l/_1XodGe7mTg3i
https://dl.doubtnut.com/l/_nHqb54Wm1zP9
https://dl.doubtnut.com/l/_7KzVsrApi0vd

38. Find the image of point P(3,-1) in the point A (-5, 2).

o Watch Video Solution

39. In what ratio does the line x -y - 2 = 0 divides the line segment

joining (3,-1) and (8,9) ?

° Watch Video Solution

40. Find a point on the line through A(5, — 4) and B( — 3, 2), that

is, twice as far from A as from B.

o Watch Video Solution

41.Find the centroid of the triangle whose vertices are A(-1,0), B(5, -2)

and C(8, 2).

o Watch Video Solution



https://dl.doubtnut.com/l/_7KzVsrApi0vd
https://dl.doubtnut.com/l/_HjWFvaxtQzCd
https://dl.doubtnut.com/l/_Xuxdv4HqwKwP
https://dl.doubtnut.com/l/_meayJfJjo7GH

42. A line intersects the Y- axis and X-axis at the points P and Q,
respectively. If (2,-5) is the mid- point of PQ, then the coordinates of P

and Q are, respectively.

o Watch Video Solution

43. Point P (hk) divides a line segment between the exes in the ratio
1:2 Find the lengths (intercepts) on the axes made by this segment.
Also find the area of triangle formed by the line segment and the

axes.

o Watch Video Solution

44. Find the area of the triangle, whose vertices are (2,1), (4,5) and

(6,3).


https://dl.doubtnut.com/l/_meayJfJjo7GH
https://dl.doubtnut.com/l/_3Nk8qltVycyy
https://dl.doubtnut.com/l/_i7dlVvN0eeIM
https://dl.doubtnut.com/l/_TAWvk1k7gmPk

A3

B.6

c.9

D. 12

Answer: B

o Watch Video Solution

45.Find the area of triangle, whose vertices are (2,3), (7,5) and (-7,-5).

o Watch Video Solution

46. Find the area of the triangle, whose vertices are (a,c+a), (a,c) and (-

a,c-a).

° Watch Video Solution



https://dl.doubtnut.com/l/_TAWvk1k7gmPk
https://dl.doubtnut.com/l/_RPKGbwRKhT0H
https://dl.doubtnut.com/l/_e57ookXurhOr

47. Prove that the points (6,4) (4,5) and (2,6) are collinear.

o Watch Video Solution

48. If the points A (xy), B (1,4) and C (-2,5) are collinear, then shown

that x + 3y =13.

° Watch Video Solution

49. For what value of 'k, the points (k,1), (1,-1) and (11,4) are collinear ?

o Watch Video Solution

50.1f a # b # 0, prove that the points (a, az), (b, bz), (0, 00) will

not be colliear.

o Watch Video Solution



https://dl.doubtnut.com/l/_kAo1IvPmmUKW
https://dl.doubtnut.com/l/_KVvFZkOSD7xW
https://dl.doubtnut.com/l/_0DyYttNJpoIS
https://dl.doubtnut.com/l/_6RsOTK6uBmqG

51. If (x,y) be any point on the line segment joinijng the points

(a,0)and (0,b) then prove that % + % = 1.

o Watch Video Solution

52.1f P be a point equidistant from points A (3,4) and B (5,-2) and area

of APAB is 10 square units, then find the co-ordinates of point P.

o Watch Video Solution

53.The area of a triangle is 5 sq. units. Two. Of its vertices are (2,1) and

(3,-2). If the third vertex is (;, y), find the value of y.

o Watch Video Solution

Miscellaneous Examples


https://dl.doubtnut.com/l/_6RsOTK6uBmqG
https://dl.doubtnut.com/l/_DwFjS7RJVxcG
https://dl.doubtnut.com/l/_lMMSgn0SizTL
https://dl.doubtnut.com/l/_lsgxCM7e8GSf

1. If the point P(k-1, 2) is equidistant from the points A(3, k) and B(k, 5),

find the values of k.

° Watch Video Solution

2. Find a point on y-axis which is equidistant from the points

(5, —2)and ( — 3, 2).

o Watch Video Solution

3. Points A(—1,y) and B(5,7) lie on a circle with centre

O(2, — 3y)- Find the values of y. Hence, find the radius of the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZEQ4WPcJjCEj
https://dl.doubtnut.com/l/_WXuJlFqxwNta
https://dl.doubtnut.com/l/_3TqpNsuITI23

4. The points A(4, 7), B(p, 3) and C(7, 3) are the vertices of a right

triangle, right-angled at B, Find the values of P.

° Watch Video Solution

5. Find the co-ordinates of the points of trisection of the line segment

joining the points A( — 5,6) and B(4, — 3).

o Watch Video Solution

6. Find the ratio in which the point P(z, 2) divides the line segment

joining the points A(12,5) and B(4, — 3).Also find the value of .

° Watch Video Solution



https://dl.doubtnut.com/l/_Qfm8vwmyitsF
https://dl.doubtnut.com/l/_kSE3S24G84m3
https://dl.doubtnut.com/l/_LPIrfELsppCB

7. Find the lengths of the medians of a ABC whose vertices are

A(7, —3), B(5, 3)and C(3, —1).

° Watch Video Solution

8. If the points A( — 1, — 4), B(b,c) and C(5, — 1) are collinear

and 3b + c =4, find the values of b and c.

o Watch Video Solution

Problems Of Ncert Exemplar

1. Find the points on the X-axis which are at distance of 2,/5 from the

point (7,-4) . How many such points are there ?

o Watch Video Solution



https://dl.doubtnut.com/l/_YWVx1ccp9FUU
https://dl.doubtnut.com/l/_HTMTUFsXRdbj
https://dl.doubtnut.com/l/_ij3Ao5DKfhs0
https://dl.doubtnut.com/l/_QyWsftyi4Mjk

2. Find a point which is equidistant from the points

A( —5,4) and B( — 1, 6) How many such points are there ?

o Watch Video Solution

3. Find the value of m, if the points (5,1), (-2,-3) and (8,2m) are collinear

o Watch Video Solution

4. If P(9a — 2, — b) divides the line segment joining the points
A(31+1, —3) and B(81,5) in the ratio 3:1: Find the values of a

and b.

o Watch Video Solution



https://dl.doubtnut.com/l/_QyWsftyi4Mjk
https://dl.doubtnut.com/l/_NjHh1CH0ADJN
https://dl.doubtnut.com/l/_c0d6gGNSA3qI

5. A(6,1), B(8,2) and C(9,4) are three vertices of parallelogram

ABCD. If E is the mid-point of DC, then find the area of AADE.

o Watch Video Solution

6. Students of a school are standing in rows and columns in their
playground for a drill practice . A, B, C and D are the positions of four
students as shown in figure . Is it possible to place Jaspal inn the drill

in such a way that he is equidistant from each of the four students A,


https://dl.doubtnut.com/l/_KuA6eKg5BBaQ
https://dl.doubtnut.com/l/_lCHAvTZAWujc

B Cand D ? If so, what should be his position ?

10 B
9 G o
8
g 7
o 6 A
5 $
4 CT
3
2
1 #D

123456 7 8 910
Columns Teacher

° Watch Video Solution

7. Ayush starts walking from his house to office . Instead of going to
the office directly , he goes to bank first , from there to his daughter 's

school and then reaches the office. What is the extra distance


https://dl.doubtnut.com/l/_lCHAvTZAWujc
https://dl.doubtnut.com/l/_kk9ioXiVJWmV

travelled by Ayush in reaching his office ? (Assume that all distance
covered are in straight lines ). If the house is situated at (2,4) bank at

(5,8), school at (13,14) and office at (13,26) and coordinates are in km.

o Watch Video Solution

8.To conduct Sports Day activities, in your rectangular shaped school
ground ABCD, lines have been drawn with chalk powder at a distance
of 1 m each. 100 flower pots have been placed at a distance of 1 m
from each other along AD, as shown in figure.

Niharika runs % th the distance AD on the 2nd line and posts a green
flag. Preet runs é th the distance AD on the eighth line and posts a
red flag. What is the distance between both the flags ? If Rashmi has

to post a blue flag exactly halfway between the line segment joining


https://dl.doubtnut.com/l/_kk9ioXiVJWmV
https://dl.doubtnut.com/l/_A3AzronREEv4

the two flags, where should she post her flag ?

N

i

b

¢

-

!
o

o Watch Video Solution

9. Find the ratio in which the line segment joining the points

(3, 10) and (6, 8) is divided by (1, 6).

o Watch Video Solution



https://dl.doubtnut.com/l/_A3AzronREEv4
https://dl.doubtnut.com/l/_uOR4C7m0qeFx

10. Find the coordinates of the points which divide the line segment

joining A( — 2,2) and B(2, 8) into four equal parts.

o Watch Video Solution

11. Find the area of a rhombups if its vertices are (3, 0), (4, 5), (-1, 4)

and (-2, -1) taken in order.

o Watch Video Solution

12. Find the centre of a circle passing through the points
(6, —6), (3, —7)and (3, 3).

A (3,2)

B.(3, —2)

C.(3, —3)


https://dl.doubtnut.com/l/_uOR4C7m0qeFx
https://dl.doubtnut.com/l/_RAoZngpr3Yzr
https://dl.doubtnut.com/l/_MLdBitE0N9ZW
https://dl.doubtnut.com/l/_GXhWXeYEb648

D. None

Answer: B

o Watch Video Solution

13. Two opposite vertices of a square are ( — 1, 2) and (3, 2) . Find

the coordinates of other two vertices.

o Watch Video Solution

14. ABCD is a rectangle formed by joining the points
A(-1, —1), B(—-1, 4), C(5, 4)and D(5, —1).-P, @, Rand
S are the mid-points of sides AB, BC, CD and DA respectively. Is
the quadrilateral PQRS a square? a rectangle? or a rhombus? Justify

your answer.

° Watch Video Solution



https://dl.doubtnut.com/l/_GXhWXeYEb648
https://dl.doubtnut.com/l/_KFbeue2i2JB9
https://dl.doubtnut.com/l/_CNVXR7bldmAC

1. Find the distance between the following points : (i)

A(—6,4) and B(2, — 2) (i) A(— 5, — 1) and B(0, 4)

o Watch Video Solution

2. Find the distance of the following points from origin :
(i) (3,-4)

(i) (-8, -6)

(iii) (5, 12)

(iv) (7, 24)

o Watch Video Solution

3. Find distance between the points A (a,b) and B( - b,a)



https://dl.doubtnut.com/l/_CNVXR7bldmAC
https://dl.doubtnut.com/l/_KHNK7CqUs56f
https://dl.doubtnut.com/l/_iV9Ain8He1W3
https://dl.doubtnut.com/l/_PZvqnboSt3UV

| o Watch Video Solution

4.Find the distance between the points (2a, 3a) and (6a, 6a).

o Watch Video Solution

5. Find the distance between origin and the point (a, -b).

o Watch Video Solution

6. If the distance between the points (6, 0) and (0, y) is 10 units, find

the value of y.

° Watch Video Solution



https://dl.doubtnut.com/l/_PZvqnboSt3UV
https://dl.doubtnut.com/l/_kgdRtVkNOJdB
https://dl.doubtnut.com/l/_Ksy5CalPZVN6
https://dl.doubtnut.com/l/_rhOIs9MyFWDl

7.1f the distance between the points (3, x) and (-2, -6) is 13 units, then

find the value of x.

° Watch Video Solution

8. Prove that the distance between the origin and the point (-6, -8) is

twice the distance between the points (4, 0) and (0, 3).

o Watch Video Solution

9. Find the co-ordinates of a point whose absicissa is 10 and its

distance from the point (2, -3) is 10 units.

o Watch Video Solution



https://dl.doubtnut.com/l/_rsv3poCsSZAW
https://dl.doubtnut.com/l/_0P4jhRcaTtal
https://dl.doubtnut.com/l/_kCLLH388OU1e

10. Prove that the following points are the vertices of a right-angled
triangle :
(i) A( —2,2), B(13,11) and C(10, 14)

(i) A(—1, —6), B(—9, —10) and C( — 7, 6)

o Watch Video Solution

11. Prove that the following points are the vertices of an isosceles
right-angled triangle :

(i) A( - 8a _ 9),3(07 _ 3) and C( - 6a 5)

o Watch Video Solution

12. Prove that the points A(1,1), B( — 1, — 1) and C(y/3, — /3)

are the vertices of an equilateral triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_dXDicGpZPyZa
https://dl.doubtnut.com/l/_2teNrDzwggcC
https://dl.doubtnut.com/l/_TN86xqkcMxN9

13. Prove that the points
(-1, -2),(—-2, —5),(—4, —6) and (—3, —3) are the

vertices of a parallelogram.

o Watch Video Solution

14. Prove that the poins ( —4, —3),( —3,2),(2,3) and (1, — 2)

are the vertices of a rhombus.

o Watch Video Solution

15. Show that the following points are the vertices of a rectangle :
(i) A(47 2)) B(Oa - 4)7 C( - 37 - 2)7 D(la 4)

(i) A(1, — 1), B( — 2,2), C(4,8), D(7,5)

o Watch Video Solution



https://dl.doubtnut.com/l/_P6FkwkELb4tT
https://dl.doubtnut.com/l/_Q5RAoWU1WCBd
https://dl.doubtnut.com/l/_GSaC10CxzJp1
https://dl.doubtnut.com/l/_4lv9pa5KE3K5

16. Show that the points A(2, 1), B(0,3), C( — 2,1) and D(0, — 1)

are the vertices of a square.

o Watch Video Solution

17. Show that the points (1, 1), (2, 3) and (5, 9) are collinear.

° Watch Video Solution

18. Show that the points (0, 0) , (5, 3) and (10, 6) are collinear.

° Watch Video Solution

19. Show that the points (-3, 2), (2, -3) and (1, 2\/5) lie on the

circumference of that circle, whose centre is origin.

o Watch Video Solution



https://dl.doubtnut.com/l/_4lv9pa5KE3K5
https://dl.doubtnut.com/l/_Pzsbi3T6kcid
https://dl.doubtnut.com/l/_esrFgRMc6f3D
https://dl.doubtnut.com/l/_4lKdQnzgiiex

20. about to only mathematics

o Watch Video Solution

21. If two opposite vertices of a square are (1,2) and (5,8) find the

coordinates of its other two vertices and the equations of its sides.

° Watch Video Solution

1. Find the co-ordinates of a point which divides the line joining the

points (5, 3) and (10, 8) in the ratio 2 : 3 internally.

° Watch Video Solution



https://dl.doubtnut.com/l/_AEH35Knb7qe2
https://dl.doubtnut.com/l/_ealNQfO6vzCb
https://dl.doubtnut.com/l/_Zk2bJeZs3rLC

2. Find the co-ordinates of a point which divides the line joining the

points (-1, 2) and (3, 5) in the ratio 3 : 5 internally.

° Watch Video Solution

3. Find the co-ordinates of a point which divides the line joining the

points (2,-1) and (3, 3) in the ratio 2 : 1 internally.

o Watch Video Solution

4. Find the co-ordinates of a point which divides the line segment

joining the points (1,-3) and (2, -2) in the ratio 3 : 2 externally.

° Watch Video Solution



https://dl.doubtnut.com/l/_RtSO7XpQw0jY
https://dl.doubtnut.com/l/_SgCEdQFBpv5X
https://dl.doubtnut.com/l/_9acbfnPJKrxQ

5. Find the co-ordinates of a point which divides the line segment
joining the points (3, 0) and (0, 2) in the ratio 2 : 1 externally.

A (3,4)

B.(—3,4)

C. (3, —4)

D.(—3, —4)

o Watch Video Solution

6. If a point A lies on the line segment joining the points
P(6,0) and Q(0, 8) such that AP: AQ = 2: 3, find the co-ordinates

of point A.

o Watch Video Solution

7. Find the ratio in which X-axis divides the line segment joining the

points (8, 5) and (-3, - 7).


https://dl.doubtnut.com/l/_omgVU55Ar2Ih
https://dl.doubtnut.com/l/_WbnrwnJ5k5S1
https://dl.doubtnut.com/l/_rfODlS5avMix

o Watch Video Solution

8. Find the ratio in which Y-axis divides the line segment joining the

points (3, 4) and (-2, 5).

° Watch Video Solution

9. Find the ratio in which Y-axis divides the line segment joining the

points (a, b) and (-b, a).

° Watch Video Solution

10. Find the co-ordinates of the mid-point of the line joining the
following points :
(i) (2,4) and (6, 2)

(ii) (0, 2) and (2, -4)


https://dl.doubtnut.com/l/_rfODlS5avMix
https://dl.doubtnut.com/l/_ddu2bSfPZvGG
https://dl.doubtnut.com/l/_eAMqRYDqAplp
https://dl.doubtnut.com/l/_gUin5zG6XnH0

(iii) (a + b,a — b) and (b —a,a +b)

(iv) (3,-5) and (-1, 3)

° Watch Video Solution

11. The co-ordinates of the end points of a diameter of a circle are (3,

-2) and (-3, 6). Find the co-ordinates of the centre and radius.

o Watch Video Solution

12. The co-ordinates of the vertices of a AABC are

A(1,0), B(3,6) and C(3,2).Find the length of its medians.

o Watch Video Solution

13. The co-ordinates of three consecutive vertices of a parallelogram

are (2,0),(4,1) and (6, 4). Find the co-ordinates of its 4th vertex.



https://dl.doubtnut.com/l/_gUin5zG6XnH0
https://dl.doubtnut.com/l/_BxTgnaMOiP2z
https://dl.doubtnut.com/l/_4Y0xTA1wkfVq
https://dl.doubtnut.com/l/_Cs8m8Mp1KgdT

| o Watch Video Solution

14. Find the co-ordinates of the points of trisection of the line

segment joining the points (2, 5) and (6, -2).

o Watch Video Solution

15. Find the co-ordinates of the points fo trisection of the line

segment joining the points (-2, 0) and (4, 0).

o Watch Video Solution

16. Find the ratio in which the join of points (3, -1) and (8, 9) is divided

by the line y-x+2=0.

o Watch Video Solution



https://dl.doubtnut.com/l/_Cs8m8Mp1KgdT
https://dl.doubtnut.com/l/_qiwhKN7g31Tv
https://dl.doubtnut.com/l/_CKIzTLvTVSmK
https://dl.doubtnut.com/l/_5WcNnnNIMG0M
https://dl.doubtnut.com/l/_If5IqRru4JSn

17. The line segment joining the points (3, —4) and (1, 2) is
trisected at the points P and @ . If the coordinates of P and @ are

(p, —2)and (5/3, q) respectively. Find the values of pand q.

° Watch Video Solution

18. Two circles C(O, r) and C'(O', r') touch externally at P(3, 1). If the co-
ordinates of O and O' are (1, p) and (q, -2) repectively. Their areas are

in the ratio 4 : 9. Find the value of p* + ¢%.

o Watch Video Solution

1. Find the area of that triangle whose vertices are

(2,3),(—3,4) and (7,5).

o Watch Video Solution



https://dl.doubtnut.com/l/_If5IqRru4JSn
https://dl.doubtnut.com/l/_scS0JcRRkiH4
https://dl.doubtnut.com/l/_6jmctxmhZxTJ

2. Find the area of that triangle whose vertices are

(1,1),(—1,4) and (3,2).

o Watch Video Solution

3. Find the area of that triangle whose vertices are

(—4,3),(—2,1) and (5, 2).

o Watch Video Solution

4. Find the area of that triangle whose vertices are

(at?, 2at1), (at%, 2a,t2) and (at%, 2at3).

o Watch Video Solution



https://dl.doubtnut.com/l/_6jmctxmhZxTJ
https://dl.doubtnut.com/l/_wFLVqudqMbFl
https://dl.doubtnut.com/l/_ckTwg39OQ8W8
https://dl.doubtnut.com/l/_xGXmQNdVB3xb

5. Find the area of that triagle whose vertices are

(b+ca),(b—c,a) and (a, — a).

° Watch Video Solution

6. Prove that the following points are collinear :
(4)(2,1),(4,3) and (3,2) (4)(9,6),( — 1,4) and (2,5)
(#7) (b + c,a),(c + a,b) and (a +b,c) (iv)(5,6),( — 1,4) and (2,5)

° Watch Video Solution

7. (i) If the points (1,4), (3, — 2) and (k, 1) are collinear, fine the
value of k.
(ii) If the points A(k + 1, 2k), B(3k, 2k + 3) and C(5k — 1, 5k) are

collinear, then find k

o Watch Video Solution



https://dl.doubtnut.com/l/_JAH54zXGDpGU
https://dl.doubtnut.com/l/_tGrcMTSiq0QE
https://dl.doubtnut.com/l/_G2MYfYHxPHi5
https://dl.doubtnut.com/l/_Nin1zRorDDdD

8. If the points A (z,y),( —1,3) and (5, — 3) ar collinear, then

show that x +y=2.

o Watch Video Solution

9. Find the area of the triangle formed by joining the midpoints of the
sides of the triangle whose vertices are (0, 1), (2, 1) and (0, 3). Find the

ratio of this area to the area of the given triangle.

o Watch Video Solution

10. Find the area of the quadrilateral whose vertices are

(_47 _2)a(_37 _5)7 (37 _2)) (2a 3)

o Watch Video Solution



https://dl.doubtnut.com/l/_Nin1zRorDDdD
https://dl.doubtnut.com/l/_SlFakg1k7HaM
https://dl.doubtnut.com/l/_Gy5K4sHnIolB

1. A(4,3), B(6,5) and C(5, — 2) are the vertices of a AABC,
is a point on BC such that BP: PC = 2:3. Find the co-ordinates of

P and then prove then ar (AABP):ar(AACP) = 2:3.

o Watch Video Solution

12. The vertices of a AABC are A(4, 6), B(1, 5) and C(7, 2). Aline is

drawn to intersect sides AB and AC at D and E respectively, such

thtAD—AE—lcllt th f the AADE and
at —— AC—4acuae e area o e an

compare it with the area of AABC

o Watch Video Solution

13. The equations (b — ¢)z + (¢ — a)y + a — b Two of its vertices are
(2,) and (3, — 2) The third vertex lies on y = = + 3 The coordinates

of the third vertex connot be

| o WMiabkl \ndaa CaAliibkiam



https://dl.doubtnut.com/l/_zZ9jng2Ks7C7
https://dl.doubtnut.com/l/_0HFALLCV0D7x
https://dl.doubtnut.com/l/_CaEP28992HDU
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14.The perpendicular bisector of the line segment joining the points

A(1,5) and B(4, 6) cuts the y-axis at which point?

o Watch Video Solution

1. Find the values of y of which the distance beween the points

A(3, — 1) and B(11,y) is 10 units.

o Watch Video Solution

2. Find the relation between x and y such that the point P (xy) is

equidistant from the points A(1,4) and B( — 1, 2).

o Watch Video Solution



https://dl.doubtnut.com/l/_CaEP28992HDU
https://dl.doubtnut.com/l/_ileBiTPiEFm8
https://dl.doubtnut.com/l/_1M6SWV4ySPZ4
https://dl.doubtnut.com/l/_G0Nfjt78MHl1

3. Find the point on Y-axis which is equidistant from the points

(—5,2) and (— 9, — 2).

o Watch Video Solution

4. Find the co-ordinates of the point equidistant from three given

points A(5,1), B( —3, —7) and C(7, —1).

° Watch Video Solution

5. Show that the points (a, a), ( — a, —a) and ( — v/3a, v/3a) are

the vertices of an equilateral triangle. Also, find its area.

o Watch Video Solution



https://dl.doubtnut.com/l/_G0Nfjt78MHl1
https://dl.doubtnut.com/l/_1VukyhnIDRT3
https://dl.doubtnut.com/l/_NDAzUUOMKX2R
https://dl.doubtnut.com/l/_wByaHoqE3eFE

6. Show that the points (1,1), ( —1,5),(7,9) and (9, 5) taken in

that order, are the vertices of a rectangle.

° Watch Video Solution

7. Show that the points A(3, 5), B(6,0), C(1, — 3) and D( — 2, 2)

are the vertices of a square ABCD.

o Watch Video Solution

8.If P(2, —1), Q(3,4), R(—2,3) and S(—3, —2) be four
points in a plane, show that PQRS is a rhombus but not a square.

Find the area of the rhombus.

° Watch Video Solution



https://dl.doubtnut.com/l/_1lTtLxrRfltu
https://dl.doubtnut.com/l/_ihwBIq1XTEmk
https://dl.doubtnut.com/l/_Mt9UeNDYAl8k

9. Find the co-ordinates of a point P on the line segment joining

2
A(1,2) and B(6,7) such that AP = EAB'

o Watch Video Solution

10. Point P divides the line segment joining the points A(2, 1) and

AP 1 . .
B(5, — 8) such that 1B- 3 If P lies on theline2z —y+ k=0

, find the value of k .

o Watch Video Solution

11. Find the ratio in which the point P (11,y) divides the line segment

joining the points A(15, 5) and B(9, 20). Also find the value of y.

o Watch Video Solution



https://dl.doubtnut.com/l/_FFccUsjZicCP
https://dl.doubtnut.com/l/_cvFmjsAcvCiq
https://dl.doubtnut.com/l/_2wugKKmh24n3

12. Two vertices of a AABC are given by A(6,4) and B( — 2, 2) and
its centroid is G (3,4). Find the co-ordinates of the vertex C of

AABC.

o Watch Video Solution

13. The base QR of an equilateral triangle PQR lies on X-axis. The co-
ordinates of the point Q are (-4,0) and origin is the mid-point of the

base. Find the co-ordinates of the points P and R.

o Watch Video Solution

14. The mid-point P of the line segment joining the points
A( — 10,4)andB( — 2, 0) lines on P divides CD. Also, find the value

of y.

o Watch Video Solution



https://dl.doubtnut.com/l/_FIHCyycD4Kpn
https://dl.doubtnut.com/l/_SIdxUY1FOD7j
https://dl.doubtnut.com/l/_vHYTW0xfr0zv

15. Find the value of k so that the area of the triangle with vertices

(1, —1),( —4,2k) and ( — k, — 5) is 24 square units.

o Watch Video Solution

16. If A(4, —6),B(3, —2) and C(5,2) are the vertices of a
AABC and AD is its median, prove that the median AD divides

A ABC into two triangles of equal areas.

o Watch Video Solution

17. Find the area of quadrilateral ABCD, whose vertices are

A(—4,8),B(—3, —4),C(0, —5) and D(5, 6).

o Watch Video Solution



https://dl.doubtnut.com/l/_qakqOSlsyOQd
https://dl.doubtnut.com/l/_O7cmVghux8gN
https://dl.doubtnut.com/l/_v7joxNih2V77

18. If the area of AABC with vertices A(z, y), B(1,2) and C(2,1)

is 6 square units, then prove that x + y =15 or x + y + 9=0.

° Watch Video Solution

Revision Exercise Very Short Answer Questions

1. Find the value of a so that the point (3,a) lies on the line

represented by 2x-3y=5

° Watch Video Solution

2. Find the value of k so that the point (2,5) lies on the line

represented by kxz + 3y = 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_31wQcmMJfZIM
https://dl.doubtnut.com/l/_Tjqeh0WnII5j
https://dl.doubtnut.com/l/_8VRcavRdzSqp
https://dl.doubtnut.com/l/_xNAQQALv5FKM

3.Find the distance of the point (4, — 3) from the origin .

o Watch Video Solution

4.Find the distance between the points (0, — 3) and (3, 0)

o Watch Video Solution

5.1n what ratio does the Y-axis divide the join of ( — 4, 2) and (8, 3)?

o Watch Video Solution

6. If the distance between the point (z, — 1) and ( — 2, 2) is 5, then

find the possible values of x .

° Watch Video Solution



https://dl.doubtnut.com/l/_xNAQQALv5FKM
https://dl.doubtnut.com/l/_MWTBPQWXSm9j
https://dl.doubtnut.com/l/_KlkEemxuYvai
https://dl.doubtnut.com/l/_GiuhMyYO53G3
https://dl.doubtnut.com/l/_e1sxLyMEcKHT

7. Find the centroid of AABC whose vertices are A(0, —1) , B

(—2,5)and C(2,8).

o Watch Video Solution

8. Two vertices of AABC are A( — 1, 4) and B(5,2) and its centroid is

(0, — 3) . Find the co-ordinates of point C.

o Watch Video Solution

9. Three vertices of a parallelogram ABCD are B (6,7) , C (8,3) and D

(0, — 1) .Find the co-ordinates of vertex A.

° Watch Video Solution

10. Find the value of k if the points (2,3) , (5,k) and (6,7) are collinear .

o Watch Video Solution



https://dl.doubtnut.com/l/_e1sxLyMEcKHT
https://dl.doubtnut.com/l/_Sj1V3cDdDShs
https://dl.doubtnut.com/l/_exepN2wy9tYF
https://dl.doubtnut.com/l/_Uj4EaDTB2VoF

Revision Exercise Short Answer Questions

1.1f A( —2,4), B(0,0) and C(4,2) are the vertices of AABC , find

the length of the median through A.

o Watch Video Solution

2. Find the relation between x and y if the points

A(z,y), B( —5,7) and C( — 4, 5) are collinear.

o Watch Video Solution

3. Determine the ratio in which the straight line x —y—2=0

divides the line segment joining (3, — 1) and (8, 9) .

° Watch Video Solution



https://dl.doubtnut.com/l/_Uj4EaDTB2VoF
https://dl.doubtnut.com/l/_VBEaMBkkXhar
https://dl.doubtnut.com/l/_fMxWY0Rwkm4i
https://dl.doubtnut.com/l/_FUmmf69N1Uht

4. Find the area of the triangle whose vertices are (3,8), (-4,2) and (5,

-1).

o Watch Video Solution

5.Prove that the points A(9, 0) , B(9,6) ,C( — 9, 6) and D( — 9, 0) are

the vertices of a rectangle .

o Watch Video Solution

6. Show that the points A( —1, —4) , B(3,3) , C(3,4) and

D( — 1, — 3) are the vertices of a rhombus.

° Watch Video Solution



https://dl.doubtnut.com/l/_FUmmf69N1Uht
https://dl.doubtnut.com/l/_TKGnEPLOaXoj
https://dl.doubtnut.com/l/_8pfJbAH3zRql
https://dl.doubtnut.com/l/_7hcLIfTh219o

7.1f D(3,-2) , E(-3,1) and F(4,-3) are the mid-points of the sides BC, CA
and AB respectively of AABC , find the co-ordinates of point A, B

and C.

o Watch Video Solution

8.If the point P ( — 1, 2) divides the line segment joining A (2,5) and

B in the ratio 3: 4, find the co-ordinate of B ..

o Watch Video Solution

9. Prove that the points (a, 0), (0, b) and (1, 1) are collinear fif,

11,
a b

° Watch Video Solution



https://dl.doubtnut.com/l/_QNsLMBsuZEYE
https://dl.doubtnut.com/l/_M9ec3zNocihB
https://dl.doubtnut.com/l/_uIss3G6TMh6H

10.1f A (1,2) , B(-2, 3) and C(-3,-4) be the vertices of AABC . Verify that

median BE divides it into two triangles of equal areas.

° Watch Video Solution



https://dl.doubtnut.com/l/_5phnskHUl5eH

